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1 Write the rational number represented by the points A, B, and C.
A, — 1T F >
-2 A -1 0 B1 3 B 3
[3 marks]
In the given number line, there are four divisions between any two integers.
Hence, each division represents %
Point A lies in the middle of -1 and -2. So, it is at _73
[1 mark]
Point B is the third division between 0 and 1. It is at %
[1 mark]
Point C is the first division between 2 and 3. Thus, it represents %
[1 mark]
2. \Which alphabet represents %on the given number line?
P Q R S T U v
————+—+—+—+—+——+f—— [2 marks]
-1 0
P Q R S T U Vv
| | | | | | | | |
| | | | | | | | |
-1 -7 -6 -5 -4 -3 | 0
8 8 '8 8 8 8 8
R represents %on the given number line.
[2 marks]
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3. Are the rational numbers —and Wequwalent’? Give reason.

[3 marks]

32

. . -8
Given rational numbers are ——-and —35

-8 —8+4 -2
Standard form of ® = wmed 7

[.- HCF of 8 and 28 = 4]

[1 mark]
And,
32 3216 2 -2
Standard form of = 5= =505 = == —
[.- HCF of 32 and 112 = 16]
[1 mark]
Since, the standard form of —and 22_are equal.

—112
Hence, they are equivalent.

[1 mark]

~19x1 6x9
9x1 1x9

1
- 8=
9

[1 mark]
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Find the product:

()

Find the value of:

3 (4
13"\ 65

[2 marks]

3 (-4
w5 (%)
3. 65
137 (—4)
3 X5
1 x (—4)
15 —15 3
11’1
[2 marks]
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7. Find the smallest number among —<,—5— = and —=
[4 marks]
LCM of 3,6, 2and 4 is 12. ...(0.5 marks)

Converting the given numbers to equivalent rational numbers (having the
same denominator), we get

s ...(0.5 marks)

T 12

|
W
|

18
12

5 ...(0.5 marks)
30
12

...(0.5 marks)

2

3 _ 9
—< = —45 (0.5 marks)

30 18 9 8
o< <1< —5(05 marks)
5 9 3 2
= —5< _E< _Z< —§(05 marks)
Thus, the smallest out of the given rational numbers is —% ...(0.5 marks)

8. Write the next three rational numbers to complete the pattern:
-8 —-16 —24 -32
7 140 210 287
[3 marks]

Given rational number is _78
So, the next three equivalent rational numbers are

~8x5_ 40 —8x6 _ 48 . —8x7T_ 56
x5 357 7Tx6 = 42 T 49 10 a8

. - — —56
Hence, three next equivalent numbers are SR TEITE

(3 x 1 =3 marks)
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9. Arrange the rational numbers— — = —, Tgin ascending order.
[3 marks]

Given rational numbers are % 3D 5

To arrange in any order, we make denominators of all rational numbers as
same.
..LCMof 10, 8, 3,4 and 5 is 120.
So —7x12 5x15 2x40 —1x30 —3x24
7 10x127 —8x157 —3x40° 4x30°’ 5x24
-8 75 80 —30 -T2
T 1207 —120° —120° 1207 120
-84 —-75 —-80 —-30 -T2
120° 1207 120° 120° 120

(2 marks)
Since, denominators are same so ascending order of numerators are - 84,
-80, -75, -72, -30
Hence —84 —80 —75 -T2 —-30
' T20 < T20 S 20 S 20 S 120
. =7 2 5 -3 -1
l.e. ﬁ< _—3< —_8< T< —

(1 mark)

10. Which is greater in the following?
3or 7
1738
[2 marks]

. . 3 7
Given rational numbers are Zand 3

3 3x2 6 7 Tx1 T
Here,;= ;m=gand g=g7=3
[1 mark]

7.3
So, 3> T

Hence, the greater number is %
[1 mark]
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